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Relating Three Forms of a Quadratic Equation ”N,ZI{bl/

Standard Form
y=ax’+bx+c

. partial
expand & simplify

Factored Form ~ Vertex Form
“y=a(x-h)*+k

y=alx-s)x-1) find vertex
from zeroes

Apr 12-2:18 PM

Ex.1 Expand & simplify each equation to obtain
the standard form equation.

Foll
(@) y=2(x+5)(x-1)

= 2.(7."'-7: + 9;—5'}
=2(* +4x - 5)

= 2% +%=—ID

-4
b)y =-0.5(x - 4)2 + 3 x
(b)y =-0.5(x - 4 + . %

=-0S (1-“1—4\ +3 ~Y x| lb
=-0S (x‘-‘lx—h*‘% +3

= 0S(HE-%w+ll) 43

= -S4 -8 +3

% =-0Sx+Ux—-<
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(b) vertex form
’-
(@ y=x e 43

=X % =%% 43

g =3¢,

ki

=1,-%

Hon

= 2R -3A
\2: o&v’!}
Y= (-
®) Fid aenes, sk y=0
0= (x-Mx3)
2-[=0 R R-3=Q
2=\ A=3
14

w

Lpp=
=2 —» 1»\):5&»\ MQ\\
v R J
Subx=2 ko g =3’ 4y43
4= F-4e)43
3-4-2+3
=-| = g-uede g debex ()
LG Pl Yo
M«(?.—h, o= &muh&

o]

za(eb) +k
§ =46
la_: (1-2\" -\
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Ex: Determine the vertex, and the vertex form, of
y=x°-12x+5
< -z

Ca.v\'\b‘\‘ ‘n
Lactced

T -/,-5
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If the parabola crosses the x-axis, the x-coordinates
of the crossing points are called the zeroes, or roots,

or x-intercepts.

A parabola may have two zeros:

Lan 8

W Equstion 1: y=(==1)1x-41
I Equstion 2; y=-(x+3)(<+1)

Apr 15-9:06 PM

Or one zero:

Il Equation 1: y=[x-2)¢
Wl Ecjuation 20 y=-2(x+2)

4 = ACEN,

Apr 15-9:09 PM
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Or no zeroes:

I Equation 1 y=(x-3)2+1
Il Equation 2: y=-2(x+2)2-1

Apr 15-9:12 PM

Recall:

(1) Factored form indicates the zeroes of the quadratic
relation.

(2) A quadratic relation can have 0, 1, or 2 zeroes.
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Not all quadratics have zeroes, which means they
cannot be factored. Instead, use symmetry to perform
a partial factoring.

1) Determine two points that have the same y-value.
- start with a point that is given and then find
the matching point with the same y-value
- the y-intercept is usually a good choice

2) Find the x-value of the vertex (h) using symmetry

3) Find the y-value of the vertex (k) by subbing h
into the original equation.

Apr 12-2:33 PM

Ex.3 Determine the vertex, and the vertex form, of

y=x*-12x+5 s -le
P g
T —

T
gt (05) it

waed -Ra mafch ngy poid

whase %zg

st %,:S

»§=7~1—I21*§

0=x"-(2x

0= 7-(1-!7-3

Y= 6 -r@)+S
%:1—"-2&-?
==3\ - el vertex
g d &33\
Veskex (L3, 0= (&-\M@\

FEEER R
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Ex. 4 Determine the vertex, and the vertex form, of
= -3x% + 15X + 2

Apr 12-2:43 PM

Assigned Work:

p.293 # 4c, Sac, 6ac, 9ac, 10ac %r@ww
p.301 #4 5acef 7ace ; P“%&’O

b Lackor uﬂ
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P.Zﬁ‘? #y(ed
V("\%@ PELL 1K)
C—y2 Y
Y= a(x-h) +k
3 = a(%'(-?%z-k- L
y= G (x+3) +2

Sub (-1, )
4= a(-+) +2

Nov 22-9:12 AM

P23 #0()
ned SO Y= (x-9)+4
Shandard. > axpand 4 Sumphly

Y = (xd)x) +4
=4 (et ) + 4
=-1(-Rur ) + 4
= -4 ex-lb 4

fH == +8x -2 s &
P o
=~ 42 o =2 12b
Y a
s-%a +ba
= a(-x+b)

L = GAEN-6)
t A CSOR

==xt4fx -2 ¢ %
=-\('i"—?z+\1\\ %.-;?—L
= A (2 acbxrn
=-1(x(xD- L(\.—?}\

= -1(x-Dfx-b)
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(%

té = -
R CTH C R
=- (o #ox v o) + |
= - —lox = &S + \
= -3 - 10%x-2Y4
== (xz -H()x«-Z‘&\

=~ (x+4)x*6)

(e ST'{-\

X

s

A

3
&

+ S
/S.
A
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p- 3ol #4(B)
S ¢
Q o = _3 +q"

0 =5 )= vls.9)

Y=alx-s)+k
sob (.0) and (4 -24)

—2 S 5 2umkasyy
— Sifve Qw(ko»o\k

i w=¢
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p %l S
9 =x-lh t2I

gyt (0,20
Stk y=2| 41,4‘.;..\..\.4:\;.3?&.3:
20=2"-1\x 42|
21 -2
D=%-1lx
0=7z(1-l\3
=0 o« x=t|

©o2)  (1,20)
(i() 1”=M

2
r=7

&xasxl

(@) sub =55 (b y=2~tet2l
y= (ssY-u(sS)+21
=325 -S 42|
=425

\(ss,-235)

Nov 22-9:40 AM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

